GO 2 = 2 AN MR A

282 BN opE)
ATzt g agnEl (L

1.A2UE
o 2 o [HFENE=SSU = EXCTpy 20224 062 08Y
ANEY |22 SPNCIE] M10600112 M Xt 202214 062 08Y
MEZA (FMIARC HEZA 27 SH2 47 (ENS10H, BFZESNESstn) #™A
Mgy ZADIZHENS AASH ZIBA oZ2H -
2. & 2AHA 21
2 A& 2 Il = z s
01.8&% 1 NTU Ol &t 0.08
02.=202=s% 58 ~8.5 6.9
03. M 5% 0|5t SA=
04.& 0.3 mg/L Olot =EEE
05. & 0.01 mg/L Olot =EHE
06.37cl(=) 1 mg/L Olot 0.007
07.0tA 3 mg/L Oldt 0.016
- 0lalgls -
B A = g
AT =xTES
= A8 ANEsE HAIE AlZ0l Stotl, AME 22 S 0|29 210, 48 S ALAQ ST AI2E £ QCH, ) Z& SHlx

202243 068 16

W
it}
rior
0
[
o
40
-
0
12
r
Mo
4>
i
S
!
é
L_JI
o




